
Answer on Question #72622, Math / Statistics and Probability 

What is the probability that a waitress will refuse to serve alcoholic beverages to 

only 2 minors if she randomly checks the IDs of 5 among 9 students, 4 of whom 

are minors?  

Solution 

Let 𝑋 be the random variable which denotes the number of minors among the 5 

students selected at random for ID checking. 

The total number of students 𝑁 = 9. 
The number of students who are not of legal age (minor) 𝑘 = 4. 
Hence, 𝑋 has a hypergeometric distribution with parameters 𝑁 = 9, 𝑛 = 5 and 

𝑘 = 4. 
𝑋~𝐻𝑦𝑝𝑒𝑟𝐺𝑒𝑜𝑚(𝑁, 𝑘, 𝑛) 

𝑝. 𝑚. 𝑓 of 𝑋 is given by 
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where 𝑚𝑎𝑥{0, 𝑛 − (𝑁 − 𝑘)} ≤ 𝑥 ≤ 𝑚𝑖𝑛 {𝑛, 𝑘}  
𝑖. 𝑒. 0 ≤ 𝑥 ≤ 4 
The probability that a waitress will refuse to serve alcoholic beverages to only 2 

minors 
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≈ 0.47619 

 

Answer: 
10

21
≈ 0.47619 .  
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